St. Mary’s Convent Girls High School

Class: 71"

Unit no. 2: Rational Number

EXxercise 2¢
Q. Add:
i E_E_E_l
"5 5 5 5
i -3 _ 5 _=35_ 8
11 11 11 11
7 1 _ _
i - oot o3l
11 6 66 66
. 6 -2 _ _
v, --——=2_
7 7 7
v 711 2122 1
" 24 36 72 72
] 10 -6
Vi 29 Z6 _ 10454 _ 64
63 7 63 63
.. 11 -5 _ _
vii, -—— 2= 22+5 _ =17
13 26 26 26
3 5 -2
viii. __I____=27+35+42= 104
7 9 3 63 63
. 4 -2 -5  _a2_
iX, -— 4 — — —— 36766455 47
11 3 9 99 99
Q. Multiply
) 4 3 4 31 1x1 1
. —=X-=xS=—=—
15" 8 155782 5x2 10
i3, 2.8 2 _wz_ 2
11 9 11 43 11x3 33
5 14 _ 51 142 1x2 2
i, —=x—=2x—=->—"=-=
715 717 153 1x3 3

Subject: Mathematics



Q.Solve:

L (5%3)+ (Gx-3)

2
5 41 g1 25

6 14  —30-14  —44

5 25 25 25

3 4 _ -9+16 _ 7
20 15 60 60

i (3X—8) (zx—s) (4X—14)
' 4" 15 375 77 15

(-5 5) - () - (-3
"\ 417 455 1% g 71 15

2 2 8
5+5 15
6+6-8 _ 4
15 15
Q. Show that:
( 5 4) -3 5 (4- —3)
—=X—|X— = —=X|—=X—
8 15 4 8 15 4
(_)3_1 4_1) 3__5 (ﬁ —_31)
82 %s3) % T T st
1. 51
627 4 8 51
~1x-1 _ —1x-1
2x4 — 8x1
1_1
8 8
Q. Show that:
2 /4 -8 -2 4 -2
—==+—=)=(—x= —X
3(5+15) (3 5)+(3
_3(_12‘8)__2 16
3\ 15 / 15 45
2 4  —24+16
——X— =
3715 45

[o¢]

8

I
&
N
vl



Q. Simplify:

(-3

_-4+——=
5
— 2x—5= 10
1
TRy
7 14
151 Y4
_X__
71 ](Sl
— 1xX—2 _ _2
1x1
3 3
1. ——+(——
8 4
Ve e
= e T
_—1x—1
o 2x1
. 4
v (-5
13
4+
=TT e
_—1x—3
T 1x2
v ()4
15 35
e 35
_ 37 _
= ,3/1)(2_
Exercise 8a
Q.Learn this table.
+X+=+
+X-=-
- X+ =-

-X-=+4



Note: Multiply the signs then write answer and put sign of greater
number.

E.g +2X +2X -2X -2X
+5X -5X +5X -5X
+7x -3x_ +3x -Ix
Q. Add these:
2a+3b 3a-4b -a-4b 4xy-8
4a+7b 2a+5b 3a+lb 1xy+6
“6a+10b 5a+1b +2a-3b 5xy-2
+43°+6a-3 +2a°-3ab+4b® -4a°+6a-3 -5X2+6XY-
8y*
+2a°-3a+7 -7a*+5ab-3h? +2a°-3a+7
+2X2+Txy+3y?
+3a°+4a-2 -3a*+4ab-5b° +3a%+4a-2 -1x2-3xy-
4y*
9a%+7a+2 -8a“+6ab-4b° +1a’+7a+2 -AX“+10xy-
9y?
Q. X2-2xy+ V2, 2xy+ X2+ Y2 AXP-xy + VP, XP- VP
1x%-2xy+ y°
1X*+2xy+y?
A%2- xy +Yy°
152 iy
7X° —Xxy+2y°
Q. If A=2x-3y+4z, B=5x-6y+7z, C= -x-y+ z Find A+B+C
A= 2x-3y+4z X= 2x°-3xy+4y*
B= 5x-6y+7z Y= 1x*+2xy-3y°
C= -X-y+ 2 Z= -4x*+5xy+1y°
A+B+C=6x-10y+12z X+Y+Z= -x*+4xy+2y°

Q. Subtract:



Note: Change the sign of 2™ term and use new sign.

I. a-b+c from 2a+b-c i,

3x3x3 3
Q. Express as power of rational number.

i 27 _ 3x3x3 _ 3% (3)3
" 125  5x5x5 53 '5
- 144  12x12 122 12,2
81 9x9 92 9
-64  —4x—4x—-4 —43 4.3
1. = = = ()
125 5X5X5 53 5

3a-2b-4c from 2a+3b+c

+2a+1b-1c +2a+3b+c
ta—-b+c +3a-2b-4c
-+ - -+ +
+la+2b-2c -1a+5b+5c
i, X2-y*+2°+2yz from X*+y*+7%+2yz iv. p*2p®3p%4p-5 from-
p*+5p+4p™+3p+2
+1X°+Y2+ 72 +2y7 - 5p>+4pZ3p+2
+1X°-y2+22+2y7 +p*-2p%-3p’- 4p - 5
-+ - - -+ + o+ o+
2y° 2p +7p +7p*+7p+7
Exercise 5 Exponent
Learn these rules:
i X" x X" = x™" Examples:x? x x> = x*% = x°
i, X"+ X" =x™" Cxd=xP=x"=1
i, (™)'= x™ (x3)*=x°
iv. x’=1 2°=1
Q. Express the following as rational numbers.
i (2 _4xa_ 16
g ( ) = 5x5 25
-2 -2 =2 -8
I (—) - —X— ? = E
2 = (22 Z3%5 25
i (_) _( ) T4x4 16
- _—4x—4xX—4 64
v, (D)= (-d=iiet_ o



Q. Find the value of:

2 _—2x-2x—-2 -—3x-3 _—_8 2:—2X1 — _
()() X2 T 9 X% ixt 2
, _1x1x1 ﬂ 116 _

(_) ( ) T2 ixl 8N 1 =2

—2X—2X—2X—2X—2X—-2 _ 64
[(——)] = (—2)'=

3x3x3x3x3x3 729
Q. Simplify and express the result in power notation.

4 4 . . :
(E)Sx(g)e’ Base is same, sign is multiply then add the
exponent.
—(h\5+3 _ 48
=)= )
3.6 . /3\4 . . . .. .
(Z) + (Z) Base is same, sign is division then minus the
exponent.

\V2

= )% = ¢y
G+ () =G+ = &
( 5)6 - ( 5)8 — 56—8 — 5—2

Q Simplify the following:

(23x25) + 28 = 23+5 - 28 = 28 - 28 = 288 =20 =1
66 Q) ===’ =1

(=)' x ()P ="+ = O = &P = O™ = )°
=1

Unit no. 3: Decimal Number
Exercise 3

Q5. Round off to the decimal place indicated by the encircled digit.

Note: Look at the digit to the right of encircled digit if digit is 5 or

greater than 5, add 1 to the encircled number and drop all the digits to
the right.



. 2@.06 = 29

. 2105@ =  210.53

ii. 0.®@26 = 0.8

Iv. 1129@9 = 113

v. 3@.678 = 38

vi. 41659® =  416.595
Vii. 458@7 = 4585
vili. 7.91®59 = 7.917

IX. 35@545 = 355

X. 39.06 = 391

Q6. Write the fraction in decimal form by changing the
denominator to a power of 10.

i X 0.1 i 1 0.5 ili. ~ 005
10 2 20
10y10— 2)10~ 20y100
10 10 100
X X X
. 1 2 . 1
(\VA 0 0.02 V. s 04 VI. 25 0.04
50YI00 5)20~ 25100~
100 -& -100
X X X
vii. — 0.025 viii. 2 0.75
40 4
40100 430
-80 -28
200 20
-200 -20
X X

Q10. Express the following decimals as fractions in the lowest term.



\V2

V.

Vil.

025 1
025=—=- (table of 5) cut down

100 4

0.007 7
0.007 = =
1000 1000

504 252 126
5.04 = = = (table of 5)

100 50 25

0.0095 95 19
0.0095 = = = (table of 5)
10000 10000 2000
433 433 100 433
= X =
0.05 0.05° 100 5
0.0099_0.0099 100 99 33 11 1
X = = = = (table
495 495 ~ 10000 49500 16500 5500 500
of 3,11)
1.2144_1.2144 1000 12144 6072 3036 1012 506
X = = = = = (table

0.012 0.012 ~ 10000 120 60 30 10
of 2, 3)

Note: Remove the decimal and write zero according to the next
digits.

Q11. Express the following as recurring decimals.

Note: Before solving these sums must see or read definition of

recurring and terminating and non terminating decimals from the pages

of book (38, 39).

.2
LS 0.666
3)200000
18
20
18
20
18
2
8
1. 1OH 0.727
=10+~ 11)80
11

=10+0.727 77

—_—

i 2% =2 +§ 0.428
=2+0.428  7)30
=2.428 28

20
14
60
56

40

. 4
V. E 0.01
333)400
-333




=10.727 30 670

22 666
80 400
77 -333
3 67
V. 90 0.454
11
:9o+% 11500
=00+0.454 44
=00.454 60
55
50
.44
6

Q12. Find the decimal value of:
Used same method of questionll.

41 0.166
6
:4+% 6)I0
=4+0.166 -6
=4.166 40
-36
40
-36
4
Exercise 4b Squares and Square roots

Note: (page 56, 57 must read all the steps)

Q3. Derive the positive square root of:




123

D
[\
[\
=
—

+2

215

46225

4]
+1

425

2125

-2125

r—\l =
Al
Ul

+1
205| 1025
-1025

—

991

+9

987

188
+8

1641
1504

1967

13769

9/98 20 81

+9| 81
1sj 1720

+9 -1720

198# 1981
1981
X

For Q. 4, 6 use same method

Q5. Total soldiers= 15400

Leftover soldiers = 15400-24

= 15376

No. of soldiers in the front row= 124

-13769

789

+7] 49
14j 1325

+8 -1184
156? 14121
14121

X




-976

X
Unit no. 6: Direct and inverse variation
See all the statement from book Page 84
Direct Variation il

Solution 4: Solution 9:
Ticket cost Weight Sheets
10 Rs. 200 280 7 l
25 X 2.5kg X
= = = =2.5x1000
25 X
X X 10 = 25x20 =2500g

_ 25x200 28 _ 7

T 10 2500 - x
x= Rs. 500 X X 28 = 7x2500

X = 7x2500 — 625
28
Solution 5: Solution 8:
Length of cloth  cost Cost Sugar
lSm Rs.1500 l 3000 150 l

X 15000 8500 X
5 - 1500 3000 - 150
x - 15000 8500 - x
X X 1500 = 5x15000 X X 3000 = 8500 x 15

_5x15000 _ 8500x150

" 1500 ~ 3000
X =Rs. 50 X = Rs. 425
Solution 6: Solution 7:
Length Weight Goods
Commission

l 2.5cm 50g l l Rs. 2000 200 l

7.5cm X Rs. 30000 X
2.5 _ 50 2000 _ 200
7.5 - x 30000 - x
XX25=75x50 X X 2000 = 200 x 30000

_ 7.5%50 _200x30000

25 ~ 2000
x=150¢ X = Rs. 3000

Indirect variation T




Solution 12:
Men Days

8 12
24 X T

8 —

24 12

XX24=8x12
:8x12

24

X = 4 days

Solution 16:

Total profit = Rs. 60720

Ratio = 2:3:7

Sum of ratio= 2+3+7=12

1 partner = —x60720 = Rs. 10120

2" partner = = x60720 = Rs. 15180

3" partner = Zx60720 = Rs. 35420

Solution 17:

Sum of angles of quadrilateral= 360°
Ratio of angles = 3:4:6:7

Sum of ratio= 3+4+6+7

1*angle = —x360° = 54°

2" angle = %x360° = 72°

3" angle = ~x360° = 108°

4" angle = -x360° = 126°

Unit no. 8

Exercise 8b

Q2. Simplify:
I.
ii.
il
Iv.

N2 _ 4x2 _ 8
(X7) =x"=x

( y5)3 — y5Xf’~> — y15

(-3a%)? = -3% x (a%)? = -3x -3 a° = 9a°
(-5a%)? = -52 x (a*)? = -5 x -5 a° = 253°

(Multiply the powers)

l

Solution 13:

Days Men
20 6
15 o |
20 — ad
15 - 6
20x6 =15 x x
20x6
15
8 men = X

Extramen=8-2=6



V.

Vi.

(2a°b%)® = 2 x 2 x2(a®)* (b%)*= 8a°h°

1 -
(=x%)® =2x=xx (X)° T2 x6
2 27272 8

Q3. Simplify:

\V2

Base is same then adds the exponent.

(2a)° x (2a)* or
— (2a)2+3

=(2a)’

=2X2X2X2X2 a°

=32a°

(10x)* x (10x)*

=(10x10x x°) x (10x10x10x x°)
= 10x10x10x10x10 x* x X°
=100000 x***

= 100000 x°

(-2x°)°

— _23 (X6)3

=2%x-2X-2x%

:-8 X18

(-4ab?)? x (2a’b)®

= -4 x-4xa (b°)* x 2° x (a%)°p°
=16 a’h* x 2°a° b°

— 16 X 8 a2+6 b4+3

=128 a°b’

Q4. Simplify:

.

il.
iil.
Iv.

2(x +3) =2x +6
a(2-a) = 2a-a°
X(y+2)=xy+xz
3a(a-3a) = 3a>-94°

(2a)° x (2a)®

= 2x2 a* x 2x2x2 a°
=4a° x 8a°
=4x8xa*"*

=32a°

During multiply when the base is same then add the exponent.

5a(4a-7a-8) = 20a°-35a%-40

Q5 is to be done by the method of Q4



Q6:

Q7.

6mn(2m-3n) = 12m*n-18mn°
(X*-5x-6)(x-4)
=X(X?-5%-6)-4(X*-5x-6)
=x3-5x%-6X -4x°+20x*+24
=x°-5X°-4x*-6x+20x"+24
=x>-9x*+14x+24
(a*-ab+b?)(a+b)
=a(a*-ab+b?)+b(a%-ab+b?)
=a’-a’b+ab*+a’b-ab*+h®
:a3+b3

3(x-4)+4(x-3)+5(x-2)
=3X-12+4x-12+5x-10
=3x+4x+5x-12-12-10
=12x-34
X(a-x)+2x(2a+x)+3x(3a-x)
=ax-x*+4ax+2x*+9ax-3x°
=lax+9ax+4ax+2x*-x>-3x°
=14ax-2x?
a(b-c)+b(c-a)+c(a-b)
=ab-ac+bc-ab+ac-bc
—ab-ab-ac+ac+bc-bc

=0

iv. (Y ) By -2+ (X
:Xzzz_yzzz +X2y2- 272+ y222- X2y2
NN y222 + y222 + x2y2- x2y2
=0

Q8. Simplify:

Note: When base is same, sign is divide then minus the exponent.



3x 3x

i =¥ _3
X re
. 2 2
jj, B 40T 421y,
—2a -Za
345
i, 2S5 =3¢371d5! = 3c%d*
: 5x*y*> _ 5 21 2- 1 _
V. 10xy wr Y xy
—18x%y> 18 3.9 5.2 _ _3 2.3
12xy? B 1/2/x y N 2x y
Q9. Simplify:
i (9x-6y) +3==—2=3x—2y
i.  (6c-18) + 6————=c—3

6
iii. (4a’-10a’ +6a) + 2a
4a 10a? +@

2a 2a 2a
=2a3"1 - 53%2°14+3

=2a’-5a+3
iv. (6X°y-4xy?) + 2xy

:6x2y _ 4xy?

32;:23}1 2- 12xy
= y
=3xy
Q10 is to be done by the method of Q9

Q11.

az—a:+ab2 n bz—b;+bc2 n c2—c2;1+ca2

LN N

a
Y
1 b+b2+b2 1-c+c +c*l-a+a’
:a-b+b2+b-c+c +Cc-a+a’
=a-a-b+b-c+c+a’+b%+c?

— a2+b2+02

a%2—2ab+3ab? b%—4bc+5bc? 5c%-ac
a T b T C




2 24b 2 2 2 2
=a*1-2b+3b*+b** -4c+5c*+5¢7 -a
=a-2b+3b?+b-4c+5c*+5¢c-a
=a-a-2b+b-4c+5c+3b*+5¢°
=-b+c+3b*+5¢?

Exercise 9 Algebraic ldentities

Learn these formulas:

i. (atb)’=a’+b*+2ab
ii. (a-b)*=a’+b*-2ab

iii. a2 — b2=(a+b)(a-b)

iv. (at+b)(a-b)= a2 — b2

Q. Find the squares.

1. 2a+l
(a+b)? = a*+b*+2ab ——=> Formula
(2a+1)? =(2a)*+(1)*+2x2ax1
= 4a°+1+4a
2. 3b+2c Note: 3b=a, 2c=b
(a+b)* = a*+b*+2ab ——=> Formula
(3b+2c)= (3b)*+(2¢)*+2x3bx2c
=9h*+4c*+12hc
3. 2p°+30°
(a+b)? = a*+b*+2ab ——=> Formula
(2p*+30%)° =(2p%)*+(39°)*+2x2p"X3q”
:4p4+9q4+12p2q2
Q. Simplify:
. 9p*+12pg+4q°
9p*x4q°=36p°q°
=9p°+6pq+6pq+4q”
=3p(3p+20)+2q(3p+20)
=(3p+2q)(3p+20)
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Q4.

We have to select a pair when we multiply then get 36p°g°
and then add to get 12pq. Pair is 6pg + 6pq
AXP+AXy+y? X 4x2y?
=AX*+2Xy+2Xy+Y° + 4xy
=2x(2x+y)+y(2x+y)
=(2xty) (2xty)
25p°+10pg+q° X 25p°q°
=25p+5pq+5pg+q° + 5pa+bpg =
10pq
=5p(5p+a)+q(5p+a)
=(5p+q) (5p+q)
36x°+24xy+4y* 36 x 4=144
=36x°+12xy+12xy+4y*
=6X(6x+2y)+2y(6x+2y)
=(6x+2y) (6x+2y)
x% + 2xy + y?
=XCHXY+XY+Y
=X(X + y)ty(x +Y)
=(x+y) (x+y)
If p+% = 5; show that p2+pl2 =23
Taking Square on both sides
(p+>)* = (57

2.1 1_
—+2 -=25
p +p+ xpxp

2

p? + — = 25-2

pZ

1
p2+?:23

. Find the value of a’+b? and a*+b* when a+b =5 and ab =

Taking square on both sides
(a+h)® = 5°



a? + b? + 2ab =25
a’?+b?+2x4=25
a?+b?+8=25
a? + b? =25-8
a’ +b?=17
Taking again square on both sides
(a2+b2)2 — (17)2
a* + b* + 2a%b? = 289
a* +b* + 2x4%=289
a* +b* 4+ 2x16=289
a* + b* + 32 =289
a* + b*=289-32
a* + b*= 257
Q6. If 2ab+5cd =5 and abcd=1, what is the value of
Aa’h*+25c%d*?
2ab+5cd=5 : abcd=1
Taking square on both sides
(2ab+5cd)?=(5)*
4a’b*+25¢°d*+2x2abx5cd=25
4a’b*+25c°d*+20abcd=25
4a’b*+25¢°d*+20x1=25
4a’h*+25¢°d°=25-20
4a’h*+25¢°d*=5
Q7. Find the value of:
i. 503 x503 Using formula= (a+b)®
a’+b*+2ab
(500+3)*
=(500)+(3)*+2x500x3
=250000+9+3000
=253009

ii. 1005 x 1005



(1000 +5)?
=(1000)°+(5)*+2x1000x5
=1000000+25+10000
=1010025

904 x 904

(900+4)?
=(900)+(4)*+2x900x4
=810000+16+7200
=817216

Q8. Simplify:
2ab+b’

Q11. If a—i = 2, then show that:

OxZ-12xy+4y?
a’-2ab+b?> == Formula
= (3X)%-2 X 3x X 2y+(2y)?
= (3x-2y)?

= (3x-2y)(3x-2y)
36a°-24a+4

= (6a)*-2x6ax2+(2)?

= (6a-2)°

=(6a-2)(6a-2)

Using Formula= (a-b)* = a*-

(i, iv, v used same method)

. 1
|.a2+—2=6,
a

Taking square on both sides

1,2 _
(a-;) =2
L4

1
a2+ - = 2ax—- =
a a
1
a+—=—2=4
a

a+— =442
a

ii. at + — = 34
da



B+ = =6
a

Taking agai square on both sides
@+ ) = (6)°
a* + = + 2a2x— = 36

a a
at+ - =362

a

at 4+ =34
d

Q12. Find the continued product of the following.

Using Formula= (a+b)(a-b)= a% — b?

(a+1)(a-1)(a*+1)

= (a*-1) (a%+1)

=a*1

(a+b) (a-b) (a2+b2) (a4+b4)
:(a2_b2) (a2+b2) (a4+b4)

— (a4_b4) (a4+b4)

—a8.p8

(2p+3q) (2p-3q) (4p*+9q°) (16p*+81q*)
= (4p™9q°) (4p°+9q°) (16p*+81q")
= (16p*-81q") (16p*+81q"
=256p°-6561q°

Q13. Express 81p49q* as product of two terms.

Using Formula=(a+b)(a-b)= a? — b?
81p°-49q°
= (9p)*-(79)"
= (9p+7q) (9p-70)

Q14. Express each of as the difference of two squares:

Using Formula=(a+b)(a-b)= a%? — b?
(3a+b) (3a-b)
= (3a)*(b)’



= 9a°-b?

ii. (5a+3b) (5a-3b)
= (5a)*-(3b)’
= 25a%-9b?

i, (2x+3y) (2x-3y)
= (2¢)*-(3y)°

= 4x°-9y°
Objective type
1) The symbol of empty set is E,%,9)
2) {BANANA} number of the element (6, 3,4)
3) Counting number < 10 8,9,6)
4) C={0,1,4,10} D={1,4,5, 7} then CND= (1.4),(1,5)
, (5, 7)
5) Square of 81 is equal to (4, 8,9)
6) x° means 0, 1,-1)
7) -5xy (trinomial, binomial,
monomial)
8) Polynomials of three terms is called (trinomial, binomial,
monomial)
9) 9° means (81, 27,
729)
10) 10° the base is (3, 10, 30)
11) 7° the exponent (3,7,21)
12) (2a+5b)+(2a+5b) (4a+10b) , (2a+4b)
(5a+10b)
13) (y°)’ o YY)
14) a® + a* (%, a*, a")
15) y'? +y® v ¥y

16) Odd number divisible by 2 4,3,0



17) 20xy the co-efficient is

18) (10xy+15xy)=
10xy)

19) 2° means

20) Round ff of 112.999=
133.90)

21) The symbol of belong to is

22) If A= {a, t, e} number of the element

29) (;-3)

24) A={0,1,2,3}B = {2,3} then A-B=
1,2,3)

25) Square root of 100 is equal to
100)

26) 2x+3y=
monomial)

27) A number before variable is called
efficient)

28) 2°the base is

29) b7 the base is

30) 5°the exponent is

31) 0.25 in form of fraction

32) (x3)°=

33) axa?

34) y'%+y°

35) The symbol of intersection to is

36) (15xy+15xy) =
10xy)

(x,y, 20)
(25xy, 15xy,

(32, 10, 15)
(112.100, 113,

(€ N,=
(1,43
4 2 3
G573)
(2,3),(2.0), (O,
(10, 10.2,
(trinomial, binomial,

(base, binomial, co-

(2,8,0)
(7,1, 0)
(2, 5, 10)
G33)
(", X, x)
@, &% a°)
" ¥y
(€, N, 7)
(30xy, 15xy,



37) - = (0.5, 0.555,

0.6)
38) x+5=19 (24, 10, 14)
39) y—2=10 (8, 15, 12)

Social Studies (Class 7 P/ G/ B)

CHAPTER 3: Main agricultural products of the Muslim world.
A. Fill in the blanks.

1). is the world’s leading producer of palm oil. (Malaysia)

2). is the tropical equivalent of wheat. (Rice)

3). The Aztecs called cocoa . (Xoco latl)

4). Coffee was discovered in the / region.

5). is the main producer of coffee in the Muslim world. (Indonesia)
6). Muslim countries produce -of the world’s tea. (15%b)

7). The rubber plant was originally found only in the rainforests. (Amazon)
8). Muslim countries produce % of the world’s cotton. (20%0)

9). produces 3.5% of the world’s sugar. (Pakistan)

10). produces high quality wool. (Turkey)

11). is the world’s biggest producer of cotton. (China)

12). is the world’s largest producer of sugar cane. (Brazil)
13). Bagasse is the by-product of . (Sugar cane)

14). The word coffee comes from the Arabic word . (Kahwah)

B. State True and False.

1). Tea is said to have been drunk in China from about 3000 bce. (True)

2). Cocoa was originally the drink of Mexican nobles. (True)

3). The earliest rice known is from the Yangtze Valley about 1000 years ago. (False)
4). Cotton is the earliest known textile. (False)

5). Sugar mills are generally located close to sugar cane. (True)

C. Short questions
1). Write the uses of cotton.



Answer. Cotton is a general all-purpose fabric, which can range from coarse canvas to finest
muslin. It is by far the largest export earner of Pakistan and is vital to its economy.

2). Write the kinds of rubber.

Answer. Natural and artificial or synthetic rubber.

3). Name some main agricultural products of Pakistan.

Answer. Wheat, rice, sugar cane, cotton, etc. are main agricultural products of Pakistan.

4). Which are rubber producing countries?

Answer. Central Africa, Malaysia, and Indonesia are rubber-producing countries current price of
oil. (It was about US$88 in May 2012).

D. Long questions

1). Write a note on wool.

Answer. Wool is the earliest known textile and comes from sheep, goats, camels, and animals
such as alpaca and vicuna (both very expensive materials from the Andes in South America).
Wool curls naturally and has great resilience so that it retains its shape and elasticity. It also
absorbs moisture, unlike most synthetic fabrics such as nylon and terylene. Woollen garments,
however, need much more care than those of cotton, silk, or synthetics.

2).What do you know about cocoa?

Answer. Cocoa was originally the drink of Mexican nobles who even had a god in their
pantheon dedicated to cocoa. It was for long rejected by Europeans, after it was introduced by
the early explorers, until it became popular, with coffee, in the 17" century. Today more cocoa
goes into the production of chocolate and sweets than as a drink.

(Note: Exercises of first two chapters are already dictated.)

Subject English A & B

English A: Read Unit no 3, 4 & 5 with translation. Do exercise on page no 14 (prepositions)
page no 18 (True or False) page no 21 (of and off) page no 24 (missing words)

Unit 3:- Lorna Doone
Dictation Words: - comfort, shoot, bullets, waterfall, frightened
Sentences: - forehead, fishing, setup, thrush, terrified

Words Meanings

Gun powder Powder used in the bullets of a gun.
Wade Walk through the water of river.
Cramp Painful contraction of muscles.
Fainted Become senseless.

Thrush A little singing bird.



Answers these question:-
(1) When was John’s father killed?
Ans: When John was 12 years old his father murdered by the Doones and lived in the valley of
Doones nearby.
(2) Who was living with John?
Ans. His sister Eliza and his mother was living with John.
(3)What did John decide as he reached the age of fourteen?
Ans. John made a plan to go out for enjoying himself by fishing.
(4) What did John try to climb?
Ans. He tried to climb waterfall.
(5) What did he see there?
Ans. He saw a young girl with black and dark hair.Her eyes were large and were looking pleased
to see him.
(6) What was the name of that girl seen by him beside the waterfall?
Ans. Her name was Lorna Doone, she was from Doone valley just near ex moon.
(7) Did they like each other?
Ans. Yes, they liked each other in their first meeting.
(8) What happened to Lorna at the end?
Ans. She was taken away by the Doones

Unit 4:- Watching the Weather Air and Wind
Dictation words: - Bottom, Wind Vane, Twigs, Vacuum, Pound,

Words Meanings

Rushing Running

Barometer An Instrument using to measure of wind
Blaze Enligh

Fetch Bring

Twigs Branches of trees

Make Sentences: - Wind, Surprise, waved, blaze, barometer

Answer these Questions:-
(1) What question did the children ask their father one day?
Ans: The children asked him different questions about air and wind.
(2) What were the names of two children mentioned in the story?
Ans: Their names were John and June.
(3) Which information did the father share with his children?
Ans: Their father told them about the wind by showing different experiments.
(4) What did the children make?
Ans: The children made a wind vane and a wind mill.
(5)What is a wind vane?
Ans: A wind vane is used to see the direction of wind.

English B: Use of homophones page 13, Prefixes/Suffixes on page 27, Phrase and Clause on
page 35.

Letter: To your father for money, Application: to the Principal for the remission of fine.

Story: A little fish, Essay: The Holy Prophet



Note: All these above mentioned topics have been given in English Grammar Book by Tariq
Mahmood Syan (Book 7)
Do All the work in the copy.

BOOK WORK: On Page no 18 TRUE FALSE 1) True 2) Untrue 3) True 4) Untrue 5) True
6) Untrue

7) Untrue 8) True 9) Untrue 10) True 11) True

On Page no 19 : Add Adjectives to the sentences (1) Brave (2) Black (3) Big (4) Long (5) New
(6) Beautiful (7) Big (8) Blue (9) Tall (10) Good

On Page no 21: Use of or off (1) Of , Off (2) Off, Of (3) Off, Of (4) Of, Off (5) Off, Off (6)
Off (7) Of, Off (8) Of, Off (9) Off, Off (10) Of, Of Unit No 3: Lorna Doone

MCQS

(1) Johns father had been killed by (A) DOONES (B) Lorna (C) His Mother

(2) John lived with his mother and sister in a part of (A) Canada (B) America (C) ENGLAND
(3) John tried to climb (A) WATERFALL (B) Stream (C) Tree

(4) John met a girl known as (A) Rachel (B) Selena (C) LORNA

(5) Lorna was taken away by (A) Pirates (B) Police (C) DOONES

Fill in the blanks:

(1) John had TWO sisters (2) The river FLOWED out of the Doone valley (3) When John was
climbing up the waterfall he SLIPPED . (4) Lorna WANTED to be John’s friend (5) When
John went home , he climbed DOWN the waterfall again .

English B: Essay (Quaid-e-Azam)

Quaid-e-Azam Muhammad Ali Jinnah is the founder of our beloved homeland. He was born at
Karachi on 25 of December, 1876 . He completed his early education in Karachi and then he
was sent to England for higher education. He received Barrister’s degree from England and
returned to India. He started his career as a lawyer, first in Karachi and then in Bombay. He
also started taking part in national politics. He wanted to liberate the Muslims from the double
yoke of British rule and Hinduism. He therefore, began to encourage, organize and unite them
under the banner of Muslim League. By virtue of the wisdom, will power, courage and long
struggle of Quaid-e-Azam . We attained Pakistan on 14 of August, 1947. It was our great
misfortune that our beloved Quaid-e-Azam could not survive for long after the independence.
He passed away on 11 of September, 1948. Though he is no longer with us, he has left for our
guidance his three words of “Unity, Faith and Discipline”. In his speeches, he again and again
advised his people that what they needed was a good education.

Road Accident:



Accidents are very common in big cities where there are many models of transport and roads
are becoming narrow and overcrowded. We hear of them and read about them in newspapers
daily. Such accidents result in loss of life and material. They are caused by the carelessness of
drivers and their ignorance and negligence of traffic rules. With the increase in population,
number of automobiles and modes of transport have also increased. There are many news
about horrible accidents in newspapers. People on the road need to be very careful. Even those
walking on the footpath are not safe due to increase in such accidents. Every day people
witness accidents from news and even with their own eyes and still they show carelessness
while on the road. We should be careful on the road while driving or walking on the pavement.
Due to our carelessness anything bad can happen which nobody can resist. May God Almighty
bestow his wisdom and guidance to each one of us so that we cannot blame our fate. Amen.

Computer
Unit # 1: “Hardware Basics” Class: 7P, G, B
Subjective Part

Q1. Define the following. System unit: System unit is a box where processing takes place. It
consists of main circuit board, processor, power supply and storage devices etc. It can be found

in different shapes and sizes.

Memory: Memory consists of electronic chips. Memory stores instructions and data so that CPU

can process them. It is the working space of the computer.

Motherboard: Motherboard or system board is a main circuit board. All the computer

components are plugged or connected with it .

Processor: Processor works like a human brain. It is a silicon chip fixed on the motherboard. Its
primary purpose is to carry out set of instructions and process the data efficiently and accurately.

It is also known as CPU.

Barcode: Barcode is a set of light and dark bars with different width pasted on different products

Barcode reader: Barcode reader is an input device.lt gathers information by reading a barcode.
SHORT QUESTIONS

1. Define the brain of computer and write down the names of it's different components?



Ans. Processor works like a human brain.It is a silicon chip fixed on the mother board.Its
primary purpose is to carry out set of instructions and process data efficiently and accurately.lIt is

also known as CPU.
2. What are the main function of the Arithmetic Logic Unit (ALU)?

Ans. All mathematical and logical problems are solved in this portion of processor .It consists of

Arithmetic unit and logic unit.
3. What is read only memory (ROM)?

Ans. ROM stands for read only memory .It is a permanent storage area.lt contain start up

instructions of computer and information about it's hardware devices.lt is fixed on mother board.
4. How many expansion slots are there in computer? Write their names.
Ans. There are three different types of expansion slots i.e
1. ISA (industry standard architecture )
2. PCI (peripheral component interconnect)
3. AGP (accelerated graphics port)
5. Why RAM is called volatile memory?

Ans. RAM is volatile memory because information is lost when the power is switched off. For
example, someone is typing a letter on the computer and the power goes off, the contents of the

letter will be erased from RAM if it is not saved.
LONG QUESTIONS
Q1. Write down the 5 main uses of the fingerprint reader?

Ans. A fingerprint is an impression left by a finger or thumb.Fingerprint reader is a device that
captures a finger print and translates it into a digital code.This code is compared with the already

stored information in the computer.
USES OF FINGERPRINT READER:

1. Fingerprint reader is mostly used for criminal investigations and security system.



2. Fingerprint reader is used for loging and user's authentication.
3. Fingerprint reader is used in car security system.

4. Fingerprint reader is used for employees attendance.

5. Fingerprint reader is used in a door lock for home security.
Q2. What is the main function of the Robot?

Ans. Robot is a machine which is controlled by a software contained in a chip.Robots are made
to help human beings.It is an electronic machine which has the ability to interact with physical
objects.They are also known as mechanical agents. Robots can perform tasks accurately and

efficiently. They are classified on the basics of their design and the work they do.
USES OF ROBOTS:

1)Robots are used in different fields such as car manufacturing,medicine,military, transportation

etc.

2)Many factory jobs are now preformed by Robots.Robotic hands are widely used in

factories.NASA is using robots for space exploration.
Q3. Write names of major expansion cards and explain them?

Ans. An expansion card is a small circuit board.It gives a computer the capability to control a
storage device,an input device or an output device.Basic purpose of an expansion card is to

enhance the capability of computer.
There are 4 types of expansion card :
1)Sound card

2)Graphic card

3)Network interface Card

4)Modem

SOUND CARD: A sound card allows a computer to receive sounds in digital form and

reproduce it through speakers.



GRAPHIC CARD: A graphic card enables a computer to display output images on monitor

screen.
NETWORK INTERFACE CARD:
A network interface Card enables a computer to connect and communicate with other computers.

MODEM: Modem is used to transmit the digital data over telephone wires .Usually it is used for

dial up internet connection.
Q4. What information is gathered from Barcodes?

Ans. Barcode is a set of light and dark bars with different width pasted on different
products.Barcode reader is an input device.lt gathers information by reading a barcode.Every
barcode has a series of numbers known as Universal product code .(UPC).It reflects the country
of origin manufacturer code , products name, and check digit (to clarify code).Barcode Reader is
a laser scanning device.Usually a barcode reader is attached to a computer.lt translates the
information stored in form of Barcode.This information includes batch number and product
name etc.Barcode readers are mostly used in the supermarket,pharmacy, libraries etc.

Unit # 2: “Software Basics” Class: 7 P,G,B

Subjective Part

Q1. Define the following.
Software: Software is the set of instructions given to the computer to perform specific task.

Utility program: Utility program is a system software that allows a user to analyze, configure
and maintain the computer. It performs a specific task related to the management of computer, its

devices and files / programs.

File manager: File manager is a utility program that helps user to locate, rename, move, copy

and delete files. In windows operating system “Windows explorer” serves as a file manager.

Disk Scanner: Disk scanner utility is used to detect physical and logical problems of a disk.It

checks the disk and resolves the errors.

Device Drivers: A device driver is a system software that tells the operating system how to

communicate with a device.



Productivity Software: Productivity software helps users to work more effectively and

efficiently to solve their problems.

Q2. Differentiate between the following.

File Manager

File manager is a utility
program that helps user
to locate, rename,move,
copy and delete files. In

windows operating
system “Windows

Application software

Application software is a set
of computer programs that
helps users to do a specific
work on the computer.
Application software helps a
user to produce documents,
create graphics, perform
calculations, play games,
compose music and so on.

Image Viewer

Image viewer is a utility
program that provides an
environment to view and
manage images in the
same folder or location.

System software

System software are the
programs that control and
direct the operations of the
computer hardware. These
software are the essential part
of the computer system. A
user cannot work on a
computer without system
software.



Entertainment
software

Entertainment software are
developed to entertainment
users. Computer games are
the most popular type of
entertainment software. A
user can play cricket, fly a
jet, battle with monster,run
favourite music and videos
while using these software.

Word processing

Word processing software
are used to produce
documents such as letters,
reports, paper and memaos.
Ms.word, word prefect and
note pad are some examples

of word processing software.

Educational software

Educational software help a
user to learn a particular
skill. These software are
used for help and guidance
in different subjects such as
Mathematics, English,
Science, Arabic etc.

Spreadsheet

Spreadsheet software are used
to work with numbers and
formulae. A user enter
numbers in the grid of rows
and columns on the
spreadsheet and computer
performs the calculations.
Ms.Excel, lotus1-2-3 and
coral’s quattro pro are some
examples of spreadsheet
software.



Device Driver

A device driver is a system
software that tells the
operating system how to
communicate with the
device. It is also known as a
driver. Most of the device
drivers are automatically
installed with the Microsoft

Utilities
Utility program is a system
software that allows a user
to analyze, configure and
maintains the computer. It
performs a specific task
realted to the management

of computer, its devices
and files / programs.

windows. A device can’t
work properly if device
driver is not installed e.g.

device drivers of printer,
modem. sound card etc.

Q3. Give short answers.
1. List the names of any five application software.
Ans. Real player, Ms. Excel, Ms. Word, Ms. Paint, Ms. Power point.
2. What are the utility programs?
Ans.  Utility program is a system software that allows a user to analyze,
configure and maintains the computer.
3. Can a device work without device driver?
Ans. No, a device can’t work properly if device driver is not installed.
4. List any five productivity soft ware.
Ans. Ms.Excel, Ms.Word, Lotus 1-2-3, Note pad, Ms.Paint

Q4. Give brief answers of the following questions.
1. What is an operating system?

Ans. Operating system is a system software. It is just like a soul of a
computer. It is a collection of programs that supervises and controls
overall functions of a computer. Operating system also organizes all the
data and runs other applications in a computer. It creates a link between
a user and the computer. Microsoft Windows is the most widely used
operating system for personal computers. Linux, Unix and Mac OS
are some of the other operating systems.



2. Write down the basic operations of the operating system.
Ans. Some of the important functions performed by an operating system are

given below.

1. Booting and providing a user interface:
It loads the system files in the RAM of the computer and provides a user interface
so that the user can easily work on the computer.

2. Managing programs:
Operating system helps a user to work with multiple programs and applications
simultaneously. User can easily switch through these applications by clicking
their buttons on the taskbar.

3. File manager:
Operating system allows a user to manage files and folders. The user can create,
save, delete, copy, cut, paste and re-name the files and folders easily.
4. Configuring devices:
When a computer starts, operating system checks all the devices and
Loads their drivers. When a new device is attached to the computer, operating
system configures it and installs its driver so that it can work properly.
3. Write down any three uses of the following soft ware.
a) Word processing:
1. It is used to create letters and reports.
2. It is used to create memos and papers.
b) Spreadsheet
1. Itis used to calculate different amounts.
2. Ttisused to create student’s results and grocery bills etc.
¢) Graphics
1. Itis used to draw pictures.
2. Itis used to make 3D images.
d) Multimedia
1. It is used to create visual presentations.
2. Itis used to add audio and video clips in presentations.

All MCQs and fill in the blanks given at the end of the unit 1,2 and 3 are included. (answers
are given on pg # 158)

Science 7
Chapter 1
Human Organ System

Note: Write all the short question answers on the copy

Short Question answers:



Q14.What are the symptoms of common cold?
Ans: Symptoms of common cold are sore throat, cough, running nose, congestion, sneezing,
headache, etc. We may have fever during the common cold.

Q15.What are the symptoms of Pneumonia?
Ans: Common symptoms of pneumonia are cough,fever,nasal congestion,rapid breathing
with wheezing sound, chest pain, loss of appetite,etc.

Solved Objective exercises

Answers of the MCQ’S:
Answers of fill in the blanks: a. small intestine
i.  Digestion i.  c.diaphragm
ii.  Peristalsis ii. b.nose
iii.  Alveoli iii.  c.diaphragm
iv.  Diaphragm Iv.  C.pancreas
v.  Breathing V.  C.vomiting

Chapter 2: Transport in Humans and Plants

Short Question answers:

Q1.What is transpiration?
Ans: The supply of food,water,oxygen etc and removal of wastes from our body is called
transpiration.

Q2.What is heart?

Ans: Our heart is a muscular organ about the size of our fist. The heart is found in our chest.
Q3.What atria and ventricles?

Ans:There are four chambers in our heart; two upper chambers called atria and two lower
chambers called ventricles.

Q4.What are blood vessels?

Ans: The blood travels throughout the body through blood vessels.

Q5.Name the types of blood vessels.

Ans: The three types of blood vessels are arteries, capillaries and veins.

Q6.What are arteries?

Ans:Arteries are the blood vessels that carry blood away from the heart.

Q7.What are capillaries?

Ans: Capillaries are the smallest blood vessels in the body. They are so small that red blood cells
flow through them one cell at a time.

Q8.What are veins?

Ans: Veins are the blood vessels that bring blood back to the heart.

Q9.What are coronary arteries?

Ans: The blood vessels which supply oxygen and food to the heart are called coronary arteries.
Q10.Define Heart attack.



Ans.The death of the part of heart is heart attack or myocardial infarcation.
Q11.What is hypertension?

Ans. If the blood pressure of a person remains above the normal value (120/80).this condition is
called high blood pressure or hypertension.

Q12.What are symptoms of hypertension?

Ans.Some symptoms of hypertension are headache, fatigue, blurred vision, nosebleeds etc.
Q13.What is diabetes?

Ans.Diabetes is a disease in which a person has high blood sugar, because his/her body does not
produce enough insulin.

Q14.What are the symptoms of diabetes?

Ans.Loss of weight,frequent urination,excessive thirst and hunger etc .

Q15.What is insulin?

Ans.Insulin is the chemical that is produced in our pancreas. Insulin helps to decrease blood
sugar.

Q16.What is asthma?

Ans: Asthma is an allergy that cause the airways of the lungs to swell and narrow.

Q17.What are the symptoms of asthma?

Ans.Symptoms of an asthma attack may be cough ,shortness of breath,wheezing, extreme
difficulty in breathing, chest pain sweating and increased pulse rate.

Q18.Define diffusion.

Ans:Diffusion is the movement of a substance from where it is in large amount to where it is in
small amount.

Q19.Define transpiration.

Ans.The loss of water by evaporation from plants is called transpiration.

Q20.Define translocation.
Ans.The movement of prepared food from leaves to those parts of plant body where it is needed
is called translocation.

Solved Objective exercises

Answers of fill in the blanks:

i. Veins
ii.  Coronary arteries
iii.  Phloem
iv.  Stomata
v. Xylem



Answers of the MCQ’S:

I.
ii.
iii.
iv.
V.
Vi.

a. arteries

c.in capillaries

c.the oxygen in it is replaced with carbon dioxide
translocation

left atrium

transpiration

Chapter 3: Reproduction in Plants

Short Question answers:

Q1.What is reproduction?
Ans. Reproduction is the process by which organisms produce more organisms like themselves.
Q2.Define pollination
Ans.The transfer of pollen grains from the anther of a flower to the stigma of the carpel is called
pollination.
Q3.What are the kinds of pollination?
Ans.There are two kinds of pollination,i.e. self —pollination and cross-pollination.
Q4.What are the four main parts of flower?
Ans.The four main parts of a flower are:
1.Petal 2.Sepal 3.carpel 4.stamen
Q5.Define Self-Pollination.
Ans.The transfer of pollen grains from the anther to the stigma of the flower or the same plant is
called self-pollination.
Q6.Define cross pollination.
Ans.The transfer of pollen grains from the anther of a flower to the stigma of a flower on another
plant of the same kind is called cross pollination.
Q7.What are pollinators?
Ans.The agents that carry pollen grains from the anthers of the flowers to the stigmas are called
pollinators wind,water,insects,birds,and bats etc,.are few pollinators.
Q8.What are the kinds of reproduction?
Ans.There are two kinds of reproduction
1.Asexual reproduction 2.Sexual reproduction
Q9.Define Asexual reproduction
Ans.The type of reproduction in which a cell from only one parent develops into offspring is called
asexual reproduction.
Q10.Define sexual reproduction
Ans.When two gamete one from each parent combine to form a zygote,the process is called sexual
reproduction.
Q11.What is zygote?
Ans.A male gamete (sperm) and a female gamete(egg) fuse to form a zygote.Later,the zygote
develops into the seed and the seed grows into a new plant.
Q12.What is fertilization?
Ans.The process of fusion of sperm with egg is called fertilization.
Solved Objective exercises
Answers of fill in the blanks:

seed coat



gametes

cross pollination
wind

ovule

Answers of the MCQ’S:

d. flower

c. pollen grains stick to its body
c. pollen tube

d. stigma

b. a single parent

Urdu
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